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1. What drives the decision behind what research method to choose?

HIOTeT HMU Tetrd Hasrreh IreAmefer o wemds aden Siar ?
a. The question that needs to be answered / ST TATY 30X SUT 3TARTH 3
b. Available resources / 39eetT TATT

c. The number of participants / Tg3Ri=T FEaT
d. What day of the week it is? / 3TEIZITAT HIVTAT Gaq@ 38

2. Which one is not considered as descriptive research?

JTURT PIOTAT JUIATCHSD T HATAAT AT ATEI?
a. Observation / farfeTor
b. Case study / 9ehI0T IH&ITH
c. ANOVA / 3fetar
d. Survey / Edefor

3. If you wanted to study the relationship between two variables, which research method
would you use?

S 3MIEATAT Glel TATHETS I AT HATAT I X HIoTar T
qeydr fAas e

a. Descriptive / auTTcHas

b. Experimental / ITaITaTeh

c. quasi-experimental / 3TY-SAMcHE

d. correlation / TREREEL



4. The goal of correlational research is to:
RERAS T TAYATT e g 3

a. assess the causal impact of one variable on another / TehT Tl qH-ITAY 3R IEASR

THTT Hedlehel 0T
b. create a snapshot of what’s happening / SV I8d 3Tg <ITAT SIATAAUT dIR IO
c. assess relationships between variables / TellAElicT HLTY Hedlehel 0T
d. all of the above / 38T T

5. A -researcher uses an experimental design to study the effect of music on memory. In this
experiment, the Independent Variable is:

THcae Fafiarear aROTATT 37601 FIUITHIST Ush FRiersh e 3iffsdhed
doX LAl ITT TGS doT § e

a. music / Fafra

b. memory / T

c. both music and memory / &aftel 37O Ecit alegr

d. neither music nor memory / Haftel 31TTOT EHcll ool

6. In an experiment, examining the effect of mood on intelligence, participants are randomly
assigned to watch either a funny movie or a sad movie before they complete an 1Q test. The
funny movie is shown in a classroom, while the sad movie is shown in the student lounge.
The most obvious problem with this experiment is:

TN, JefaAdadlel Hzwal IRUMATRY GA&T0T FH&e], eIl Fgotarcar fqamarer
STl g feHAT Aol i #HudIqdl Teh HelgR RAve fhar g @ faue arevae
fAgeFd el 3. Teh FoleR v gId edifdem S, R g @ fEde Regrediwar
QI ALY Afaer STar. I1 IR Jatd ¥9s¢ gaear 37l

a. lack of statistical validity / TTfEIRT Jeraar 3rema

b. the Independent Variable is confounded / Tads Tl INTeISerell e

c. the use of random assignment / IrETedeh HSAHCAT dTA

d. none of the above / aXTYHT FIgIaT ATRT



7. The more preparation the students do for the exam, the less examination stress they
report. This is an example of:

faeamdt odeTard! fodehr Ty adrd fadea glerar aror & gsdrl. § el
3CTER0T 3Te?

a. a curvilinear relationship / Ueh dshdl TaT

b. statistical independence / HITEIHIT FaTA>T

c. a positive correlation /| HPRIcHS® TTY

d. a negative correlation / T RIcHS TRERIAE

8. A researcher plans to assess intelligence by counting the number of times participants
can hop on one leg in 60 seconds. An obvious problem with this is:

Tsh G HEHMIAT Jefaade Hodiche! HULTH! AleTall HEal. 60 Yehald Teh
U THRUATH HEADT FAISION HIdl. AMHE Teh TASC FAEAT 3 3¢ .

a. lack of statistical validity / SIfEIRIT Jercar 3379

b. number of hops is too subjective / 387 ARTATT H&AT U ATFdIcS 3T
c. lack of construct validity / TaeTTcHe d&adT 3THTT

d. lack of significance / #gcd 3T

9. Research shows that the older a person is, the larger their vocabulary. This is an example
ofa:

TN 3 HeT I TEET ST JAT AT TG, I ASTHIE
a. positive correlation / HhRIcHS Tgdael

b. negative correlation / TPRIcHD TRERIATY
c. causal correlation / 9TH{ETh TgHEE
d. partial correlation / 3Tf2Ieh TgHeT



10. A researcher asks 250 students (from a school with 1000 pupils) to complete a survey
about the study habits. The 250 students are a:

T HAYH 250 TAGATLITAT (2ooo TIGATLITHE I 2Medelsd) IATHAT FadIr
FAETOT qUT HOATH HieTdr 250 gt 3R

a. population / Seh&EEAT

b. case study / STl 3¢ITH

c. sample / sTHsT

d. variable / et



